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this is not a Complete Square

e.g.1 Complete the square: x* + 6x + 3
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Find the value of ¢ that completes the square in each of the following:

1.
(iii) y2 — 5y + ¢

(i) a?> + 28a + ¢ (i) x? — 6x + ¢
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2. Complete the square in each of the following:
(i) x> —8x — 3 =0 (i) x2 —2x — 5 =20 (iii) x? — 2x + 1
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(iii) x2 —7x —3 =0

3. Write each of the following in the form (x — p)? + g = O.
(i) x> +4x —6 =0 (ii) x> +9x +4 =0
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The graph of v = a(x — p)? + g has a minimum point (2, g).
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By completing the square, find the minimum point of each of the following

quadratic equations:
(1) 2x2 +4x — 5 =0

1[)("'- 'Z.X-%]=o

(i1) 3x2 —6x — 1 =0
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(iii) 4x? +x +3 =0
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